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® -12 @ -6 ® 6 @ 12 ® 18



3. a>0,b<0¥ ", Va+ /(=b)2 - Via? — Vb? < 7tH5] 5hH?

@D -a-b @ —a-2b ® a
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0<x<7LM, Vx2 —16x+ 64— Vx2 +10x + 25 & 7+t

O -2x+3
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® -3x+1
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8 T AEag bothetd a-b<0, ab <0 < W, Va2 — 6ab + 952 —
Va? = 2a + 1 & 75| 512

DO -2a-1 @ 3p-1 ® 3b+1

@ —2a+3b-1 ® 2a+3b+1
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11, x(x4+1)(x+2)(x+3)+1°] (B +bx+c)? L2 QLR D uf h—c
o] k27

® -2 @ -1 @0 @1 ® 2



12, oax(x+1)(x+2)(x+3) + 1 = d=slisha?

@ (x%+3x+6)2 @ (x2+3x-1)2 ® (x2-3x+3)?2

@ (x® - 5x+3)? ® (x> +3x+1)?
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® a+b
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® x+b



14. 95 F 2 +y-x-x%y o A7t opd ZA2?

® x%-y @ x-y ® x-1
@ x+1 ® x?-1
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16. /(=6)2 + (-2V3)%2 - @(@—%) =a+bV2 9 B2 e
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17. AdASnof tiste] vn o] &4 B2 f(n) ol & ®l, £(80)+f(45) =
avVs + b olth. o] ul, 24 + b ©] FFS F5HH?

© -28 @ -7 ® 0 @ 7 ® 21



18. A n o tiate] i O] &4 BEE f(n)ol2t T w, £(175) -
2f(28) = aV7+b o|t}. o] W, ab °] FH-& Fo1H?

@® -5 @ -3 ® -1 @1 ® 3



